MaTemaTuka
PeweHue 3agau

CocTaBuna
Yyuntenb HadyarbHbIX KIaccoB
MOY cpegHen wkonbl Ne72
JleoHoBa H.H.









50+ 30= 80 90-30=60
41-1 = 40 44+1 =45
84-80= 4 37-20=17
10+9 = 19 90+9 =99
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1 (k.)

OTtBeT: Ha 1
MOPCKUX

4+5=9(X.)

OTtBeT: 9

XNBOTHbIX



benbix — 12rpndos
Nucuuek - ? Ha 20rp. Gonbwe ~ 7

1) 12+ 20 =32 (ep.) - nucuyek.
2) 12 + 32 = 44(zp.)
(12 + 20) + 12 = 44(2p.)

Omeem: 34 2puba 8 KOp3UHKeE.
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44 — 12 =

BEBrh:

32 fucuYyKuU 8
KOP3UHKe.



- ?rpubog ,, s
= 32 rp. a

44 — 32 =

OMEBH:

12 6enbiXx
ronoos



— 42 maluvH
['py3oBbIX -? Ha 20M. MeHbLue | ?



IlomaluHee
3agaHue



